EARAROBEEIERT — 2 N— IBISH —F

20185F9H 290 (£) AEIBR#H8H

Ll o R 3 RESF (H8%E] B

EZS

] ‘[?éiﬂ%ﬁaﬁ] — | & (&) 14000 TR

[A~&£] 17 5,000,000  ~ 23 :2,000,000H 37 :1,300,000

/47 1750,000 F 5 7& 500,000 M

ABICOVWTRDTEEERROODE. TR LIV,

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= # 3 | BBREE 1:24.5 6-4 36.8| 87.7 | 2 464 | ERRG= (EH)
1159 AZFA4 B 56.0 (=) _ (#) /—ZAENLX
LNnN—=v934 B:/—2TNLVF7—+ (-10) TEHS
= ¢ # 3 | dERE— 1:24.5 1-2 37.2| 87.7 | 4 472 | REET (EF)
2012|771 KR 54.0 e y &) #r7F-L—v>9
R:0— KHFO7 BLIFIES b e & | Tyl L
— e . - . - FRET (EXR)
YNSFHF— K 43 506 OM«X W 1:25.1 10-10 | 36.9| 82.2 | 1 502 !
: 31/2 (%) 1L%kKEA
RTINSy by THTHEN G2 42| £ lemasis
. . BERS 1:25.5 4-4 37.9| 78.1 | 7 508 | mERAN (RR)
=L KR4 v 2 E A
: (2 1/2) » () AL —XK—-2X
L= R7Ya— B:ULIITS—A (-6) R T — L
Jypro—Xx f3 | X 1:25.6 241 |38.2|77.3| 6 | 438 ngﬁf;%i)
. g€ oy | BEEE
R:d—ILR7Ya—b B:UDT7LRAL ( ) -2) Fy P EF T — L
S S = 4 3 | LB 1:25.9 10-11 37.5| 74.8 | 8 490 | FEHE— (FR)
Y= wlT4q 56.0 13/4 Stk
Q:O-KAFO7 B:a(v% e O 1 Ha55 .
4 3 | BREKXME 1:26.4 7-7 38.6 | 70.5 | 13 48 | NEE (FER)
7y 7= 54.0 3 LERL—2Z ()
L:RT—hTPNAL BATE—O-X @ ) x4 =
# o3 | B2 1:26.6 4-4  [39.0| 69.0 | 5 | 468 |REZXIEE (RH)
[ Pte 5 (1 1/4) G2) | W) HFYIR-NF 2T
RGATAT v — BRAEATRT—I Y5 74
Jy—w—%1— i3 gﬁ%ﬁf (1:26.8 13-13 | 38.2| 67.1 | 15 | 432 iﬁﬂi‘é%i)
. 11/4)
LRFAANE BA—oTo )| Fnas
o o LD BREBFH A : — ARNE (R
HERIEL—JL 4 3 s (11.217/.20) 2-2 39.7 | 66.3 | 11 (4_3; ;m%%} )
RNZ—E1—X BHRIFAHAT e
I Ep 43 517_2131%%32 1:27.2 13-13 [ 38.3| 63.7 | 3 426 i?ﬁ;&%i)
. 1 S
LERLTHANAN BRI EYESR W O | Bk
D —aH— 4 4 3 %g%& 1(:12/72.)3 9-8 39.1|63.2 | 12 | 466 fﬁeg)ﬁg é.\(%%)xt\—x
R:d—RTFYa—b B:UYT—L 19 e85 7— 4
P # 3 Eﬂﬂ(ﬂ)ﬂé: 1:(27.8 15-15 | 38.8| 58.8 | 10 | 478 542;7;’)92/<¥§>Um
. 3 =
L:N—=VI54 B:IJALIXISyF ) © H¥RAEHE /—Zex
. . REHE - g bl
1alglis| # T vam=xon 4 3 @55_0 1(.32/1)9 7-8 39.8 | 59.0 | 9 &2) gggéii)
x4 avR—5— B:XA42avhIF FREH S
S o i 3 | B3R 1:29.7 10-12 [ 41.4| 47.3 | 14 | 482 |BETF (F=)
15|14 X1 >39A TN 54.0 (514) AR
QAZ—E2—X BHILLITLADY 18 | S 57—
$ 4 3 | ERAH 1:32.3 16-16 [ 39.8 | 23.6 | 16 436 | TEHB= (ER)
16111 |Z7TNVRT7 72— 56.0 (24 4) UNIIE
QiN=5—S9F BRTAAL— b #0) | Pougss
@ 71 L
) 49.4-37.2
NA>Z4 L | 12.5-11.0-11.6-12.2-12.3-12.2-12.7
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= (x2,4,16) (7,10)9(3,13)12-(5,14,6)-(8,15)-11=1
40—+ — (2,4,%16) (7,9,10)-3(13,12)5,6,14(8,15) 11=1
[ N3
BB 9 330H 714K 2-9 520M e E 1-5 1,100M JEHE 2-5-9 1,240
8 B 9 130M4 5-9 260M B = 2-9 1,460 B 9-2-5 6,730
2 1704 2-5 380 B H 9-2 2,140
5 1304




